Australian Team Selection - 2005 Playoff
Open/Women's/Seniors :Womens Captain :Margaret Bourke

Names :Sue Lusk — Therese Tully

System Summary

If you play all of the system shown in the given meanings you are
still required to send a blank declaration

If your Bid has any of the
following meaning You do not
Bid require to make any further Disclosures
disclosures herein unless you

wish to do so

Basic System Description ACOL

14 Strong Club OR May very occasionally be done on fewer HCP with
3+ Suit AND 11 HCPs either a longer suit or third in hand

1le Natural 3+ AND 11 HCPs Ditto

1lv Natural 4+ AND 11 HCPs Ditto

1a Natural 4+ AND 11 HCPs Ditto

Any Balanced Hand fully
INT | contained within an 11 to 18
HCP range.

Acol OR Strong AND/OR
2% Natural 11-15 with or without
Major

Acol AND/OR

Strong AND/OR

Natural 11-15 with or without
2¢ Major AND/OR

A Weak Two Bid in ¢'sor in a
major AND/OR

5+/5+ Colour/Rank/0dd.




Acol AND/OR

Strong AND/OR

Natural 11-15 with or without
2v Major AND/OR 5+/5+ ¥’s and a minor
A Weak Two Bid in

v's AND/OR

5+/5+ Colour/Rank/0dd.

Acol AND/OR
Strong AND/OR
Natural 11-15 with or without

24 Major AND/OR 5+/5+ a’s and a minor
A Weak Two Bid in
a's AND/OR
5+/5+ Colour/Rank/0Odd.
Strong AND/OR 5+/5+ both minor, weak or strong

2NT | Minors AND/OR
5+/5+ Colour/Rank/0dd.

Please describe any other opening OR other bids OR treatments which you
consider should be pre-alerted.

Canapé Transfers over opponents’ 1NT opening:

2# = Transfer to diamonds initially but may be both majors (normally 54)
or, infrequently, both minors (55) or canapé (4+s and & 6+ outside suit
good hand in terms of playing tricks)

2+ = Transfer to hearts or, infrequently, both reds (55) or canapé (4vs
and & 6+ outside suit good hand in terms of playing tricks)

2v = Transfer to spades or, infrequently, both majors (55) or canapé (44s
and & 6+ outside suit good hand in terms of playing tricks)

2a = Transfer to clubs or, infrequently, canapé (4vs and & 6+ outside suit
good hand in terms of playing tricks)

2NT =5/5a &
3a=5/5v&e

3¢ =5/5a&& 0




